1.

The DELL Corporation, determines that in 2011 the demand curve for its business laptop is
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where P is the price (in dollars) of a business laptop and Q is the number of laptops sold per month.
a. (5 pts.) To sell 80 laptops per month, what price would DELL have to charge?
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b. (5 pts.) If managers set a price of $1,500, how many laptops will DELL sell per month?
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c. (5 pts.) If DELL wants to maximize revenue, what price should it charge and what is elasticity
of demand at that price?
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d. (5 pts.) Would DELL charge the revenue maximizing price? Explain why or why not.
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5. A newspaper publisher in a small town must decide whether or not to publish a Sunday edition. The
publisher things that the probability is 0.8 that a Sunday edition would be a success and 0.2 that it
would be a failure. If it is a success, he will gain $300,000. if it is a failure, he will lose $150,000.

a. (5 pts.) Construct the decision tree for this problem, and use it to solve the problem,
assuming that the publisher is risk neutral.
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b. (5 pts.) What is the expected value of perfect information?
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6. Vinny is considering investing money in “Vinny’s Suits and Ties” or in “Vinny’s Hot Soup Stand”.
Vinny currently has $100,000. To avoid negative numbers, we'll always assume Vinny gets his
$100,000 back at the end of the year. Also, let M be Vinny's total amount of money in thousands at
the end of the year.

Vinny currently has the $100,000 in his suit and tie business and will earn $70,000 for sure by the
end of the year (i.e., M = $100 + $70 = $170). Alternatively, Vinny could invest his $100,000 in
opening his hot soup stand on the street in Budapest. If he does, he estimates there is an 80%
chance that he’ll succeed and earn $130,000 (i.e., M = $100 + $130 = $230) and a 20% chance he’ll
lose $100,000 (i.e., M = $100 - $100 = 0).

(Parts a — ¢ on the next page)



a. (5 pts.) Assume Vinny is risk neutral. Should he invest in Hot Soups? (Be sure to draw clearly
the decision tree and use it to solve the problem).
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b. (5 pts.) Assume Vinny is risk neutral. If Chris Consulting could sell him perfect information,
what is the maximum he would pay? {(Again, be sure to draw clearly the decision tree and
use it to solve the problem).
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c. {5 pts.) Would your answer for part (a) change if Vinny were risk averse with utility,
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Equations to remember:

( Price = Cost)
Markup = S 2C 720

Price = Cost (1+ Markup)

Markup =
U
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